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int £#4.,
scanf ("%d”, &L L) ;

{52 R

int x;
scanf ("%d”, &x);

%d (BH) DX TE—R—FOS A NL-EEXIZIEINT S

o

scanf("%d”, &x);
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#include <stdio.h> XEYTEEZITVLERT
int main(void) XDIE : 9
{ YODIE : 4

int x, vy; X +y =13

printf "x&yTEEZTLVET ), X—-y=05

X *xy = 36
printf ("xD{E:") ; X/ y=2
scanf ("%d”, &x); X%y=1

printf "yd{E:");
scanf ("%d”, &y);

%d¥n”, x +vy );
printf("x -y = %d¥n”, x -y );
printf("x * y = %d¥n”, x xy );
printf("x / y = %d¥n”, x /vy );
printf ("x %% y = %d¥n”, x %y )

printf("x + vy
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int main(void)

{
HEIEY)
{

syoriA( );

J

else

{

syoriB( );

J

return O:

J

/*ALIEAx/

/*A0LIEB*/
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#include <stdio. h>
int main(void)

{

int x, v;
printf "x&yTEEZITLET ) ;

printf ("xdDfE:"); scanf("%d”, &x);
printf "ydfE:"); scanf ("%d”, &y);

printf("x + y = %d¥n”, x +vy );
printf("x —y = %d¥n”, x -y );
printf("x %y = %d¥n”, x xy );
if(y == 0) {

printf "EIY R LBEIRIFFAFTETSEEA) !

}
else{
printf("x / y = %d¥n”, x /y ),
printf("x %% y = %d¥n”, x %y ).
}
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XEYTEEZFITVET
XDIE : 9

X *
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#include <stdio. h>

int main(void)

{

int x;

printf "BHZEAALTLEZIWN);
scanf ("%d”, &x);

if(x <0)
{

}
else

{
J

printf ("#&XHEIX%dTI¥n", —X);

printf ("$&xHE XN TT¥n", x);
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